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Barem  Punctaj 

Problema I  10p 

Reprezentare grafică  1p  

p1 = ρgh 

p = p1+ρgh = 2 ρgh 

 

1p  

p1h = p1
′x 

p h = p′(3h - x) 

p1 = p′+ ρgh 

x =  ,  p′ = p1′ - ρgh  

3p  

p h  = (p1′ - ρgh)(3h -  1p  

12 p1′2 – 12 pp′ + p2 = 0,   p1′ ˃ p 1p  

p1′ = p(  
1p  

pB  =  p1′ + ρgh = p(1 +  
1p  

Oficiu 1p  

Problema a II-a  10p 

a. ΔU =  νCV(T2 – T1) 

CV =  

pV = νRT 

ΔU =  

3p  
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b. Reprezentare grafică;    L = Afig 3p  

L =  =  
  

c. p = aV,   pV-1 = a 

n = - 1 este indicele transformării politropei      

 

3p  

Oficiu  1p  

 


